4549 ARATHAD XAXRARUSEA

EFEREAXAGKRES K AD

BISFOB30BIRE
h &
BT 4 HE b 3B = BT 4 HEH | B £ k=4

& =] HT 316 548 255 293 [riz] b 1+ BT 424 761 343 418
E £ 1 T B 187 336 174 162 | [ = )l 1 T B 143 278 125 153
E £ 2 T H 164 338 157 181 mREIJ 2 T H 271 509 232 271
A Fi T 325 626 279 347 | |&E N iy 335 610 295 315
[ 3 HT 269 535 236 299 m g R 1 TH 293 625 293 332
iT 5 BT 142 274 136 138 | |8 &0 = 2 T B 239 464 186 278
s B 1 T B 292 600 285 315 | |/ B & 3 T H 654 | 1,264 576 688
s B 2 T B 245 444 220 224 | |8 = 4 T H 357 653 296 357
# & 383 T H 244 470 191 279 m g R 5 T H 181 374 174 200
s B 4 T B 249 513 255 258 | |7 1 iy 182 307 130 177
i N ## HT 98 185 91 94 w = # B Hr 117 192 86 106
£t E & @ 290 533 257 276 | |3 BT 19 45 22 23
i - ] HT 63 99 55 44 ®r = = BT 124 206 97 109
£ pi ing 272 508 241 267 B )23 1l iy 170 345 169 176
T FE H 342 666 314 32| |1 NI ® A M 143 250 123 127
£ ] H HT 206 362 167 195 ® bt B iy 244 414 176 238
* & B 83 148 69 V|| E @B ® 273 464 215 249
il iy 155 338 1m 167 B i 1+ iy 124 242 120 122
= BT| 2,496 2,577 2,271 00 | [ & 0 H 198 412 172 240
= % 1 T B 472 796 363 433 | || &0 & 1 T H 270 486 223 263
= % 2 T B 297 607 280 327 | |m v &= 2 T H 180 335 161 174
= & 3 T H 211 358 172 186 B g 3TH 256 475 219 256
= % 4 T B 225 419 213 206 | | &8 &= 4 T H 164 305 139 166
= 0 iy 422 766 343 423 |1 @M 1 T H 206 385 176 209
& Kk 1 T H 166 323 148 175 | [ #® 2 T B 83 143 69 74
&F XK 2 T H 185 345 1m 174 B = # @B ® 104 187 87 100
#F /K 38 T H 85 148 17 n F R HT 241 520 239 281
T ] H iing 100 193 96 97 ® B 1 T H 195 31 167 204
i) o T 0 0 0 0| (K ® 2 T B 115 224 112 112
i = iing 133 235 110 125 K E 8 T H 157 307 136 17
S T 480 1,145 531 614 | |8 h iy 130 255 118 137
b % 1 T H 135 224 105 119 V. g 632 1,087 535 552
h & 2 T H 399 619 286 | |x & 1 T H 344 542 250 292
b % 3 T H 683 1,327 626 701 X @& 2 T H 3N 571 272 305
b & 4 T H 33 71 34 37| [~ ® 3 T B 190 292 140 152
b % 5 T H 410 706 326 380 X & 4 T H 382 683 321 356
B & 6 T H 486 874 431 43 | | XA & 5 T H 301 483 218 265
b % 7 T H 251 580 255 325 X @& 6 T H 318 532 269 263
% #h BT 52 85 40 45| A @ 7 T EH 249 482 239 243
F . iing 255 504 247 257 X & 8 T H 177 328 149 179
t & 1 T H 245 473 218 255 | |i& B iy 195 395 180 215
t @E 2 T B 236 406 185 221 3] = )N iing 124 236 104 132
h @& 3 T H 120 170 83 87 | |/\ i iy 149 278 117 161
t &E 4 T B 182 269 120 149 W F 1 T H 216 401 190 211
=3 8 iy 151 306 131 175 | | ¥ 2 T B 187 293 144 149
& / VN ing 245 487 220 267 mw 1 T B 132 249 121 128
= s T 2 2 2| |\ #H 2 T H 217 379 179 200
= Al lgk ing 94 163 76 87 m £ 1 T H 305 636 318 318
B\ T 75 202 361 166 195 | |fn £ 2 T B 248 466 232 234
] A ] ing 197 456 205 251 0 E & iing 365 666 311 355
wm ol R ' 190 325 155 170 0 E X BT 296 550 275 275
] 15 B ing 100 183 75 108

mEBH1TE 123 202 100 102

AEMBH 2 T H 231 447 217 230 hR § 26,166 | 46,638 | 22,881 | 23,757




4549 ARATHAD XAXRARUSEA

BISFOB30BIRE
= = E=l:]
BT 4 K %] 4] k=4 BT 4 HEH | B £ =
= ® 1 T B 220 416 190 226 | |m& i ) 309 616 289 327
= R’ 2 T B 145 290 135 155 | |& =3 iy} 342 523 323 200
= | 3 T H 179 307 139 168 | |& @ st~/ @ Hr 213 389 169 220
= R 4 T B 193 379 176 203 | |[&F & B iy} 131 230 109 121
= | 5 T H 124 222 106 16 | (@ Br1 TAH 355 741 366 375
= ® 6 T B 123 221 109 M2 | |Em&ET2TH 5 7 4 3
= ® 7 T B 293 435 267 168 | |5 & H H 151 274 137 137
= & 8 T B 165 299 140 159 | |&5 @ M B 97 174 78 96
= | 9 T H 123 205 89 M6 | |5 @ #H H 120 224 110 114
= ® 1 0TEBH 166 294 146 148 | |SHEARN1TEHE 157 277 131 146
=K 11 TEB 154 292 142 150 | |[HHEEAB2TH 212 400 185 215
=" 1 2 TB8 275 524 258 266 | |SHEAB3TEH 77 147 59 88
=K/ 1 3 TEB 287 566 304 262 gsﬁixmﬂa 27 51 24 27
% s W H 311 575 253 322 | |E®HET1TEH 118 244 117 127
i R i) 118 240 114 126 | |H@hET 2 TH 175 339 172 167
& Ll g 363 537 334 203 | |E® BT 3TH 166 340 146 194
= A i) 190 352 166 186 | |H i@ AHE 1 TH 114 202 89 113
H R iy 222 399 187 212 | |[EEAHE 2 TH 154 327 157 170
HEHAE 3TH 131 275 134 141
BER _E 3,651 6,553 3,255 3208 | |5 B O# FE HT 75 146 66 80
= B L W Er 98 209 101 108
& B & @ H 115 223 96 127
= OB @ W OEr 88 154 68 86
&7 @B B & 141 232 107 125
H B E 97 165 73 92
i PN iy 136 266 130 136
5 R T 151 302 134 168
X 1 iy 78 163 82 81
B &£ iy 44 88 39 49
3 s iy 176 306 133 173
W F R H 446 | 1,085 534 551
& b iy 130 291 164 127
=H 4829 | 9410 | 4526 4,884
£ B =B X W
BT 4 HE w 2] k-4 BT 4 HEH | B B k4
Z2EHE1TAH 349 557 264 293 | |X i & B M 93 153 74 79
Z@HE 2 T8 79 148 78 0 |X i & + | B 117 224 103 121
Z2HE 3 TAH 161 305 144 161 | | XmBEE1TAH 102 239 110 129
Z@EE 4 T H 291 567 287 20| [ RKIs & 2 TH 197 500 241 259
Z2®HE S5 TA 168 303 150 153 | | X ®EEI3ITE 235 512 244 268
Z@EHE 6 T A 152 279 129 150 | | XmfE4TH 45 99 42 57
Z2®HE 7 TAH 179 321 159 162 | | X KE1TEHE 164 377 187 190
Z @EHE 8 T H 142 266 125 M| |XHKXKE2TBH 125 261 122 139
Z2HE 9 TAH 232 358 167 191 | |XW& XKE3TE 44 62 25 37
2 H B @ 1 1 1| | XEEABR1TH 126 253 118 135
B B 1 T B 45 76 36 0| | XEABR2TH 61 123 57 66
B B 2 T B 124 203 99 104 | |X & ® H 318 591 290 301
W & 3 T H 11 137 61 76 x i = iing 33 69 34 35
B B 4 T B 46 78 38 0| |X K& B oA m 98 177 79 98
B % 5 T B 35 67 34 33
R B 1 T B 45 77 39 38 X 1,758 | 3640 1726 | 1,914
R B 2 T H 30 54 26 28
R B 3 T BH 36 51 23 28
EFEE § 2,192 3,848 1,859 [ 1,989




4549 ARATHAD XAXRARUSEA

EFEREAXAGKRES K AD

BISFOB30BIRE

BB #0 fg =B

BT 4 HE b 3B = BT 4 HEH | B £ k=4
BLOEY » KB 394 836 391 445 fr & 4 1 T H 248 370 209 161
B ot ®OET 501 985 436 549 | |pm B 4 2 T H 86 166 66 100
Ly E1TH 274 520 265 255 fr & 4 3 T H 225 435 198 231
WL s E2TH 241 475 217 258 | |pm B & 4 T H 130 272 127 145
Ltk E1TH 214 412 196 216 fr & 4 5 T H 428 859 417 442
WLty B2 TH 144 302 142 160 | (f7 & &t 6 T H 369 586 261 325
Btk £E3TEH 214 438 211 227 fr & 4 7 T H 257 487 241 246
LB M1TAH 281 569 264 305 | |pfm B & 8 T H 304 540 269 271
BB W@ 2 TH 239 458 201 257 | |l B 4 9 T B 333 608 218 330
BEILBM3TAH 238 594 281 31| IMEHRR1TTEH 234 471 235 236
L@ 1 T B 400 769 356 413 fr&E sk 2 TH 85 155 74 81
WL/ 2 T 8 177 333 157 176 | (] B 2 3 T B 465 881 414 467
B L m 3 T H 281 621 309 312 fr&E bk 4 TH 186 404 207 197
Wi RrR1TH 248 484 225 259 frE b 5 T H 108 253 124 129
LR 2TH 192 409 196 23| M E R 6 TH 687 | 1,459 679 780
LR 3TAH 369 808 380 428 | I E R 7 T H 356 825 395 430
WL R4 TH 258 513 234 219 | b B & 8 T H 284 554 265 289
WL RS5TH 236 502 225 2717 fr B bk 9 T H 164 286 143 143
L6 TH 431 964 485 479 | |fr B B 1 T H 315 587 266 321
W W ® 1 T H 500 1,025 467 558 pr € @ 2 T B 322 466 282 184
WL’ 2 T B 302 617 278 339 | |fTm B 3 T H 410 959 449 510
WU R 3 T H 292 599 285 314 | |k E M 4 T H 198 370 180 190
WL R’ 4 T B 309 646 315 331 & & 5 T H 194 378 164 214
W W 1 T H 197 336 167 169 pr € @ 6 T B 281 526 239 2817
WL 2 T A8 69 159 75 84| (B E m 7 T B 34 57 32 25
# W 1 T B 50 104 50 54 | |l B B 8 T H 330 560 278 282
# W 2 T H 51 64 47 17 | 8 9 T B 239 435 202 233
#w b 3 T H 731 1,637 816 821 ey = iy 4 5 1 4
gL =Y R/ A 182 425 199 226
WBLE~yHE1TH 698 1,367 624 743 prae &t 7.276 | 13,954 6,695 7,259
HwILE 82 TH 646 1,840 931 909
W d 1 T B 142 312 152 160
Wl d 2 T B 338 866 425 441
% W d 3 T H 481 978 469 509
WL AE1TH 154 326 147 179
WILWAE2TBH 161 360 172 188
BIWWAEI3ITAH 159 351 169 182
WILAE 4 TBH 153 331 164 167
BIWWAESTAH 105 219 96 123
LR~y E1TEH 228 472 215 257
HwILUR s HE2TH 301 650 296 354
W A 1 T H 350 901 454 447
B A 2 T B 267 564 250 314
W A 3 T H 266 563 267 296
# A 4 T H 420 887 419 468
W A 5 T H 285 599 308 291
# A 6 T B 51 82 40 42
W oA B OF OH 132 2,000 1,004 996
5% ] HT 20 20 8 12
"\ =K BT 376 697 339 358
i R HT 176 308 143 165
# A iy 1 3 2 1

B & 14,525 31,300 14,964 | 16,336




4549 ARATHAD XAXRARUSEA

EFEREAXAGKRES K AD

SHS5EOB/30B81RE

7y

BT 4 HH K w E: % B £ HHEHH | B E: ©
L # K 1 T H 131 286 142 44| | & 1 TH 67 162 68 94
L # ® 2 T H 384 768 362 406 | |58 & 2 T H 329 663 332 331
L # B 3 T8 332 659 324 | LA E 3 TE 191 397 200 197
L # ® 4 T H 140 303 154 149 | |l 8 & 4 T H 117 225 119 106
I XK= 1 T H 211 518 244 214 | |l @ & 5 T B 280 581 277 304
L XE 2 TB 436 821 392 29| |8 & 6 T H 258 548 281 267
ILE W 1 T H 76 152 70 82| |k & B 1 T H 94 238 116 122
E KW 2 T H 109 239 121 18| |ls 4 B 2 T H 190 348 173 175
L E W 3 T H 150 293 139 154 | [Im # R B H 61 108 45 63
EE W 4 T H 125 257 119 18| |k EE&E 1 TBH 77 129 56 73
L # X B H 288 682 352 0| |k EE 2 T8 127 215 96 119
L= % 1 TEH 271 704 360 M4 | |k EE 3 T H 148 277 123 154
L= % 2 T H 118 278 124 54 | |Is R EE 4 T B 136 235 103 132
[~ = 302 608 289 39| |5k K E 5 T H 132 237 115 122
L& % 1 T B 395 783 381 402 | |5 & & HT 0 0 0 0
L& % 2 T H 235 443 225 208 |I5 s 2 1 T B 611 | 1,207 556 651
L BT E 1T B 147 337 158 179 | |5 /M 12 2 T B 233 457 225 232
K BT B 2 T H 187 4217 226 201 | |5 i) 49 54 18 36
A 388 799 389 410
LEEHE1TH 526 1,027 517 510 =B 20,710 | 43514 21,117 | 22397
Lo #HME2TA 492 992 482 510
LH % 3TH 666 1,546 751 795 =
EH % 4TH 271 579 290 289 s
EHHEs5 THE|l 309 586 276 310 fr & i % %
LE e TRH 381 824 389 435 | BEFZUOR1TH 0 0 0 0
LH %7 TH 631 1,363 701 662 | MBEFUVDE2TE 240 535 269 266
Lo M8 TAH 337 818 410 408 | BEBFBROE1TH 583 | 1,749 877 872
LE B9 TH 375 976 483 493 | |BRERHEBOE2TH 0 0 0 0
I X 1t Ep| 463 904 459 445 | |4 & mr| 1,175 | 2,100 | 1,059 | 1,041
L&ZEA1TH 363 712 350 362
LZ2EA2THEH 3 3 3 MR B 1,998 4,384 2,205 2,179
L&%EA3TH 16 16 16
LE%2EAX4TEH 0 0 0 0 Z B
Ik XK 1 T H 53 74 47 27 - wrle %
EXE 2 T8 0 0 0 0 BT 4 it & (R # B i
L X BT 1 T H 527 980 473 507 | Iz A xH8BT 1 TH 370 805 364 441
L A BT 2 T H 401 799 398 01| Iz A5 AKHBT 2 TEH 304 632 307 325
L X BT 3 T H 604 1,194 566 628 | I # &~ 8 3 T H 77 123 70 53
Lo %HE1TH 381 756 351 405 | =z B K & H 154 290 145 145
LB 2TH 260 567 279 288 | I /A # B B 485 | 1,088 525 563
L % B 3TBH 264 574 272 02| = A & # HE| 224 452 216 236
L WM K 388 829 377 /2| =z /A =B £ H® 110 227 104 123
LE W1 TBH8 151 321 151 170 | [I= A/ & # H| 502 920 420 500
K& ® 2 T H 269 548 263 285 | = H &  ET| 269 455 218 237
T th g 523 1,116 566 550 | = #H & = HEy| 285 557 272 285
L BR &1 1 T H 437 953 463 490 | |1z pal iy} 151 266 139 127
L BR 81 2 T H 518 1,168 567 601
L RX#FHR1TEAE 746 1,648 753 895 =5 & 2,931 5,815 2,780 3,035
X% 2TH 737 1,620 745 875
L X% B 3TEH 184 404 200 204 X
HE@ A 1 TH 215 480 244 236 e
Em A 2 T 8| 149 352 162 190 fr & N % =
L@ #& 3 TBH 169 365 168 197 | [F & X BT T B 572 978 472 506
A A 1 TH 336 814 421 393 | | N BT = 2 8 116 198 91 107
LA A 2 T H 427 993 499 494
B3 & 3 T H 308 606 273 333 132 S 688 1,176 563 613
A A 4 T H 299 569 278 291




4549 ARATHAD XAXRARUSEA

HH5FO[/30BIRE

NN R ==

BT 4 HE wi 3B = BT 4 HEH | B £ k=4
n R B & F 3 5 2 3| |[BFETIEH1THE Ii 122 63 59
o R BT 0 & 3 4 1 3 EFETEH2TH 163 306 148 158
n R e F H 5 1 5 2 3| |[BFETIEH I THE 67 108 55 53
n R OB % B 0 0 0 0 EFHET5I#1TH 40 61 27 34
nm R OB R K 0 0 0 0| [EFET5Ith2 TH 14 27 11 16
N R B E ERA 0 0 0 0 EFE#HE1ITH 64 99 38 61
nm R B X R 2 4 3 1 BERETHE2TH 127 208 99 109
o R BT /N A 1 1 1 EFE#HBEI3TH 18 38 21 17
n R BB & ot 0 0 0 0| [EFETHEE1TH 85 135 63 72
n m B /N A 2 4 2 2 EFRETIEE2TH 148 266 125 141
NRET/MIZAH1TH 200 333 162 17| |EFHTAEIEE1TE 136 238 121 117
NRET/MNZH2TEH 29 49 26 23 EFETEIRE2TE 128 2117 105 112
MABEI1TEHE 345 660 344 316 | [EFHTAEESITE 149 320 154 166
MEAEB®R?2TAH 163 277 136 141 | [EFHTMEE4TE 40 65 29 36
JIRET® 3 TBH 204 391 169 222 EFETE%1TH 106 183 79 104
MEAEB®R4TAH 100 175 84 91 EFETEZA2TH 164 266 115 151
JIRETH 1 TH 369 810 394 416 EFETE%3TH 102 190 96 94
MBI 2 TAH 214 428 201 27| [EFETKESR1TE 327 678 345 333
JIRETH 3 TH 122 230 11 119 BEFETKERE2TH 321 683 323 360
MEAE#E 4 TH 164 382 189 193 | | EFHTEZR3TH 92 201 96 105
JIRETH 5 TH 175 395 192 203 BEFETKEZR4TH 67 126 48 78
MBI 6 TH 105 212 101 M| | SFHTEERS5TH 345 762 403 359
N RE&H1TE 114 240 109 131 EFETKEZRE6TH 180 388 192 196
MEAEF2TAH 159 307 137 170 | | EFHTEER7TH 66 96 44 52
MERAE#F3TAH 165 314 145 169 | |(EFHTXZR S8 TH 10 14 6 8
MEEF4TBH 103 232 105 127 | | EFHTEZROTH 136 257 117 140
JNIRET/NA1TBH 148 273 144 129 EFEIKEZR10TH 312 692 349 343
NARB/MNE2TH 71 135 58 77 | |[EFEIXZR11TH 188 363 174 189
NABA#E1TEHE 159 353 168 185 EFETME1TEHE 81 142 60 82
NEEAHB2TAE 120 252 122 130| | FEFETME 2 TH 19 33 16 17
NABA#®ITEH 13 32 13 19 EFETME3TEH 134 257 120 137
NEEAH1TE 127 265 137 128| | BEFETEFE1TH 62 98 46 52
NABAMm2TEH 91 193 95 98 EFETEEFE2TEH 21 35 16 19
NEEAHEITAE 46 94 45 49| | EFWMER1TH 38 57 24 33
JIRERWL1TTAH 155 295 133 162 EFETE®E2TEH 57 98 51 47
NEERWL2TA 60 125 57 68 | [(EFETEE 3 TH 80 125 60 65
JIRETR W3 TEH 24 58 27 31 EFETERK1TH 82 17 76 95
EFETER2TEH 141 269 128 141
JIR & 3,757 7,533 3,615 3918 | |EFETEM 3 TH 35 55 26 29
EFETR#E1TH 135 256 123 133
EFEMRE#E2TEH 1M 308 146 162
EFETR#EI3ITH 69 104 45 59

EFETEE1TAH 46 75 34 41
EFETER2TAH 206 324 144 180
EFETEE3TH 95 166 77 89
EFEEF1TH 73 130 61 69
EFETEF2TEH 180 335 158 177
EFEEF3TH 110 200 107 93

EFEHHKXKFEFR 2 4 3 1
EFEHMXFEF 0 0 0 0
BF & 5509 | 10,351 4967 | 5,384




4549 ARATHAD XAXRARUSEA

EFEREAXAGKRES K AD

BISFOB30BIRE
BB
B £ K %] 4] k=4 B £ HHR | B B E°8
=} 1B BT| 2,693 4,533 2,172 | 2,361 | |&i@lThR:E1THE 126 338 172 166
ZHETF R 2 TH 222 556 254 302
2E 2,693 4533 2172 | 2,361 | [R#EETKR 1 TH 207 393 177 216
ZHETKR2TH 34 62 34 28
S X HEET=2ZO01TH 165 298 146 152
i~ " ZHEET=EO2TH 112 203 94 109
g il M % = wHET=:2O03TH| 139 266 126 140
- U ) B N 246 402 191 211 | |&#EET=2#04TH 45 78 37 41
# XN BT B F 134 212 96 116 | |ZEBT=20O5TAH 29 56 28 28
EON B OB OB 154 226 103 123 | |Z@ET=206TH 31 42 26 16
H oM B oM@ 317 553 262 291 | |=#EETAEILE1TH 130 261 127 134
ZHEETREIL2TH 135 310 153 157
N OE 851 1,393 652 41| |REBETREILITH 22 48 21 27
ZEETREIL 4 TH 77 146 70 76
258 ZHEETAEILS TH 110 199 99 100
o " ZEETREIlL e TH 111 231 107 124
g HEM | eH % = REETNEL 7 TH 66 115 50 65
RE BT K F 5 @R 56 112 58 54 | |REBTANER1TAH 123 242 106 136
ZHEAEAXFEFRE 66 118 60 58 | |RiMETANERE2TH 127 234 108 126
REHKXKFERNE 2 6 2 4| |RHETAEREITH 22 36 15 21
ZHEEHKXFEARNT 43 81 43 38 | |RAETNEREATH 51 93 49 44
REMAFTXF M@ 194 355 182 173 | |RABTRERS THE 59 108 57 51
REMAFFER 15 21 10 1| |ZHEEREEG6THE 36 76 36 40
ZHEKFERY 183 363 179 184
TRHEBEIXFT M 84 148 74 74 R# B 4815 9,650 | 4,676 4,974
ZHEKXFERM 90 184 84 100
REBMAFT=ZENO 20 32 16 16 i
REMREH1 T H 27 48 25 23 - A\
ZRMEEH2 TH 28 47 20 27 fr & el % %
REEM RS 3 TH 53 94 43 51| |ZERMAXFEE 649 941 445 496
REMREH4TH 45 91 42 49 Z2EEH KFKXKE 120 176 72 104
REEMRS/S TH 73 157 77 80| |ZEMAXFEFTE 7 8 4 4
R REH6 T H 16 31 16 15
REBMRERH7 TH 32 68 32 36 ZiR § 776 1,125 521 604
BHEMREHS TH 219 413 213 200
REBMREHO TH 5 9 4 5 £
RAEREHE10TE 224 413 192 221 e "
EBEMRBEE1TH 8 1 6 5 fr & BEHR | R % =
BHEMREHE2TH 25 50 24 26| |& B O F % 106 176 85 91
REMREESTH 24 42 19 2| |2 @ X £ 484 766 335 431
RHENREHA4TH 49 99 48 51| |&£ B AKX Lt 237 3717 177 200
REMREES TH 94 235 120 "5 | |2 @& & 84 147 67 80
REMREE6 TH 82 161 81 80
RHEE RN Y 423 941 467 474 8 & 911 1,466 664 802
RHEETRR1TEH 28 51 24 27
RFEE R 2TH 87 169 82 87
RHEE R 3ITH 43 86 43 43
RHEE R 4TH 54 104 42 62
RHEEThRS5TH 209 430 212 218
RHEE B R6TH 16 44 20 24 o -
ZEE et k7 TH 19 45 94 91 2 W & | 106,036| 206,283 99,838| 106,445




